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(F) (ha) (FM) (F) (ha) (FA)

Tf254| 69,969 118,139( 104,661,213 1277 940| 143518 AKE. FE.L\ILKE. EEER
Tf264| 66,961 119,089( 103,952,256[ 2,891 2313 243,682 EKE.HRE. LWELHKE. TS
274 63,737| 119,161 99,078,855 2932 5197| 1,076,667| AKE. BHE, L\iLH
TK284| 60527| 119,169 97,036,455 512 235 41,439 TE.EBE.RAKE
T294| 57,674| 118,769 95973307| 1,718| 3.324| 246288 AKE.HE
TH304| 55003 119,333 95828368 3,621 7,100 840,369 FTE.RKE

SHITHE| 47,055| 109,722| 88993592 1,410 3,157| 248582 BEEE. F=

SHI24E| 43258| 104,741| 87,118,583 1,304| 1,665 198,430 EZE. . EH=iE

SHI34E| 38,893 91,812| 77,591,726 1,303| 2542| 229743 EER-BRIZE. BKE. BE
SHA4E| 35453| 82542| 77,643,965 724 1,389| 139,691 =B -AEBFE. AKE.HE
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(F) (ha) (FM) (F) (ha) (FM)

ER254F 38 232 53,597 16 136 9,150| MERAEE. LEEHE
ER264E 46 230 43,245 9 32 1,857 tiEEEE
EmR27FE 49 254 20,279 25 120 3033 TERBE .EE
TR28E 53 272 31,056 21 52 2019| HERHE
294 50 286 34,366 13 40 1,752 tigERE=E
ERI0E 53 231 33,248 28 88 2,655 TIERHEE

SHTE 44 203 25,163 18 39 827| TEEBE . EKE
SH24 33 179 24,184 20 39 839 LTiFEHE

S 17 110 20,087 11 54 3585 LIEREE. AT

SH4E 10 49 8,505 2 5 103| *TiE@HM=E




